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QUESTION BOOKLET
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1.  Main cause of extinction of species from tropics is

(A) Afforestation(B) Deforestation(C) Pollution (D) Soil erosion
ISUTehTeT e &A1 | STl shi T T T&T I &

(A) IR (B) oHEH (C) gy (D) HeT 3AueH

2. A phylum common to unicellular animals and plants is

(A) Monera (B) Protista (C) Fungi (D) Plantae
Weh <hIINT JTOf AT UTedl |, Tsh ETHT T & . ’ ’
(A) T (B) WifewT (C) ®%g (D) A (WATE)

3. If the diploid number of a flowering plant is 36. What would be the
chromosome number in its endosperm ?

If¢ e IoquT Uter <hi TGIfoTa S 36 7, AT 38 YOS H TUREAT <hl T gt

(A) 18 (B) 36 (C) 54 (D) 72
4.  Protein rich alga is

(A) Protosiphon (B) Porophyridium

(C) Gelidium (D) Spirulina

TN Tg Saret &

(A) (B) IRIwRRIERH

(C) Tfetfem (D) THTEEIeTT
5.  The largest antherozoids are found in

(A) Cycas (B) Cedrus (C) Ephedra (D) Pinus

g4 o2 m(ﬁﬁﬁw)wﬁm%
(A) HEHE (B) fargH (C) whel (D) wTETH

6.  Which of the following is an unicellular sac-fungus ?
(A) Asp_erglllu (B) Penicillium (C) Claviceps (D) Saccharomyces

751 5 & i ©1 Toh Uhehlz Bhe & 7

(A) TERSeE (B) uffafeem (C) wmifedsm (D) S
7.  Meiosis takes place in

(A) Conidia (B) Gemmule (C) Megaspore (D) Meiocyte

JTUEA gl BT 8 7

(A) #Hfen  (B) Pa  (C) AW (D) el wifE
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10.

11.

12.

13.

14.

15.

16.

17.

“Turbellarians” are free living
(A) Trematodes (B) Flatworms (C) Cestodes (D) Nematodes

(A) goIgE  (B) WWIFM  (C) FRIE (D) THRISH

A poisonous lizard is

(A) Varanus (B) Chamaeleon (C) Ancistrodon (D) Heloderma
[ERETSIN

(A) JTE (B) *ffdtsm  (C) Rl (D) geed

Gill cover is absent in

(A) Salmon (B) Labeo (C) Shark (D) All of these
AT ST SR el &

(A) WM (B) wfsam (C) wmh (D) Ig Tt
Which of the following is an egg-laying mammal ?

(A) Whale (B) Platypus (C) Penguin (D) Kangaroo
ﬁmﬁﬁﬁqmm%wwz‘m%? . ‘

(A) = (B) w@m  (C) T (D) HME

Haemocoel is found in

(A) Echinoderms(B) Sponges (C) Arthropods (D) Annelids
ThHITET UTS AT

(A) THEEEHE (B) wWaH (C) smyidg@d (D) wiferga |
%’lep yhcailrsae s abse(IIlSt)in Aurelia (C) Physalia (D) Obelia
uﬁ%\u JTTEAT UL Bielt &

(A) B (B) 3ifern (C) wE@ferr (D) SAreifern

A waxy substance secreted by honey bee to repair combs is called

(A) Propolis (B) Honey dew 1%(_i’) Nectar (D) Sporopollenin
T 6l TUd SR HTferd W S8 qered <l gl STl & |

(A) Ydifer®  (B) &N & (C) AFK (D) TARIGATH
Tube feet are locomotory organs of

(A) Spider (B)_ Reptile ~ (C) Starfish (D) Cat fish

TS hie (et g Terdeh TiETereh 31 & 2
(A) THSl* (B) @{guiss (C) AU #Se % (D) he ThoT

Which of the following shows polymOIBhism ?
(A) Physalia (B) Typanosoma (C) Termite (D) All of these

(9 | T 1A SgEddl gl & 2

(A) wREfEm  (B) fedmmm (C) oAl (D) IgaH
In which phylum, the bo%y 1s segmented _

(A) Porifera (B) Coelenterata (C) Annelida (D) Mollusca
S 4 59 8, %M (IR) frafsd 2t g 2

(A) TR (B) Rei=@  (C) wifdst (D) Hie&n
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18.

19.

20.

21.

22.

23.

24.

25.

26.

Which of the following is an oviparous mammal ?

(A) Balaenoptera (B) Delphinus
(C) _Pteropus (D) Ornithorhynchus
=1 5 1 %M |1 T 3ves THu § 2

(A) Sfeen (B) Sehd (C) ™ (D) fHedwa

Which of the following is a flightless bird ?

(A) Columba (B) Neophron (C) Struthio (D) Corvus

T | o &1 T IgHE vafi 2 2

(A) i (B) e (C) wgfasn (D) "

Replum is present in the ovary of flower of

(A) Mustard (B) Lemon (C) Pea (D) Sunflower
% S H (T HIS[G 8l & ?

(A) ®@i®  (B) g (C) =L (D) FHE!

Periderm 1s formed by

(A) Phellem (B) Phelloderm (C) Phellogen (D) All of these
ufted ffifa grar 2

(A) g (B) WalgH gl (C) WaANH g (D) HEfihga

Epiblema is characterstic of

(A) Monocot roots (B) Dicot stems
(C) Dicot roots (D) Monocot Stems
TeReeh! TeaoTehd @ 2

(A) TS (B) faefsian  (C) fesfisg (D) wohefif o

Jute fibres are obtained from

(A) Xylem (B) Endoderms
(C) Pith ' (D) Secondary Phloem
¢ dq 3 fpu a8

(A) TEY (B) s@=mE  (C) Hiuw (D) fedfs aew @

Mast cells secrete
(A) Heparin (B) Myoglobin (C) Histamine (D) Haemoglobin
TR HITMHIT el

(A) qafE (B) mwRETEfsH (C) feweHmEa (D) EWralted

Compound eyes are found in
(A) Cockroach (B) Roundworm (C) Earthworm (D) Frog
EeCEPRIPES GRS

(A) fae=gd  (B) MosMEH  (C) HguH (D) HesH

Which of the following is the simplest amino acid ?_ _
(A) Tyrosine (B)  Glycine (C) Asparagine (D) Alanine
- | | i 91 TAdH I ?

(A) TRAEHN (B) TREH (C) TG (D) TN
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27.

28.

29.

30.

31.

32.

33.

34.

Quantasomes are present in

(A) Stroma @%3% Grana
(A) Iﬂmﬁ (B) UTH

A cell swells up when kept in
(A) Hypotonic solution
(©) Isotomc solutlon

©)
©

(B)
(D)

Teh hIf3TehT Bl cucu B, 51 3 TG 91T &

(A) Il foem o

(C) THgEd foera |

Cell theory is not applicable for

(A) Bacteria (.Bg%_(ﬁFungus

SHITTeRT LA AN &l .

(A) SE®R  (B) %R&W

The enzyme that cuts DNA is

(A) DNA-lyase

(C) DNA-polymerase
E«? DNA I ledl &

(A) DNA-TETS

(C) DNA-UfefHS

A plant cell attains turgidity due to
(A) Electr01y31s (B) Exosmos1s

(B)
(D)

©)
©

(B)
(D)

(B)
(D)

(©)

Mitochondria(D) Golgi body
HISEIRIUGAT H(D) Teiiehrd |

Hypertonic solution
None of these

SfoaEdt oo |
T 9 HIE T

Algae
RATA T

(D) Virus
(D) fersmye

DNA-ligase
Restriction Endonuclease

DNA-SATEI
ESHENE RS G IS |

Endosmosis (D) Plasmolysis

Ueh YIcU ShI13TehT Shl THIAAT ITH i T HIUI %

(A) TORIAEEE (B) WEERE (C) TemHIbE

(D) TASHIAIGE

The factor most important in regulating transpiration is

(A) Temperature
(C) Wind

(B)
(D)

Light
Relative Humidity

Frefived o T o 31fd Tl R (92%) ©

(A) AIHH (B) WII

Boron in green plants assists in

(A) Activation of enzymes

©) Actlng as enzyme cofactor
o I FEEAT BT &

(A) TITEH & Gfsha o

(C) T~ITH % 3Y-HIH o dR T

Denitrification is carried out by

(A) Pseudomonas (B) Nitrobacter

|°|"||$§<I°I'){UI fertreh gl 6|(‘|| % ?

(A) HEHAE

Code No. : C-490/2018/Series-A

(B) m@é&a

©)

(B)
(D)

(B)
(D)

©)
©)

EIR (D) |U& JTgd

Photosynthesis
Sugar Transport

ThTRTEIANOT
NETUCEE K|

Nitrosomonas (D) Nitrococcus

ATEIEMHAE (D) ATgEehIhE




3S.

36.

37.

38.

39.

40.

41.

Kranz anatomy is observed in

(A) C2 plants (B) C; plants (C) C,plants (D) CAM plants
IAR-TEAT ¢! ATt 8

(A) C,dedid (B) C;uedid (C) C,Uedi®d (D) CAM Uredi §

Which of the following is formed during photorespiration ?

(A) Phosphoglycolate (B) NADPH
(C) Oxaloacetate (D) Sugar
TehTIN Y8 o S e O & fepgrent famior grar 2 2
(A) HRHTARIDAS (B) NADPH
(C) 3TaeAT-THiee (D) U

The essential element needed for water splitting in photosynthesis leading to
O, evolution 1s
(A) Molybdenum (B) Manganese

(C) Magnesium (D) Potassium
3 STe FTTEE % ToTu Strevareh awa S O, Foion # uftorfira g 2, 2

(A) Hieflsg®  (B) T (C) Tfirm (D) wieRrm
The site of glycolysis is

(A) Cytoplasm (B) Chloroplast

(C) Mitochondrial matrix (D) Mitochondrial inner membrane
TATSh AT <hl H18C &

(A) TRIREIEATSH (B) FARIATE

(C) wEIrehifgae Afeam (D) WTEIhITga 3id: el
Induction of flowering by low temperature treatment is called

(A) Photoperiodism (B) Cryostat

(AC) Cryoscopy (D) Vernalization

A A9 IR GRT TSI <hT ST0T Sha ATl &
(A) difepiferdt  (B) s (C) ERHM (D) S

Gibberellin was first discovered from

(A) Roots of higher plants (B) Algae
(C) Fungi (D) Bacteria
eaie= 6t yom @ i TS off

(A) 3= dredl <61 Sfei @ (B) areii @
(C) ®%ed (D) St d

Cholecystokinin in human being stimulates
(A) Gall bladder (B) Pancreas (C) Bile secretion(D) None of these
OTE H Shict I eh T 3T st

(A) T (B) I (C) TawmE (D) 8 O His &l

7 Code No. : C-490/2018/Series-A




42.

43.

44.

45.

46.

47.

48.

49.

Among mammals, a significant role in the digestion of milk is played by

(A) Rennin (B) Invertase

(C) Amylase (D) Intestinal bacteria
YT H, Y o 9TeH § ol {HeRT 31T hl ST &

(A) Fragm (B) $=AGN  (C) ARG R (D) 3 ey g
“Glisson’s capsule” in human being is associated with

(A) Liver (B) Pancreas (C) Kidney (D) Lung

AHE ¥ o4 shae gefed

(A) JHad (B) r=mE¥ (C) JFHE (D) %Sl Y

The alveoli of lungs in human being are lined by
(A) Simple epithelium (B) Squamous epithelium
©) Cub01dal eplthellum (D) Ciliated epithelium

A H el chl HiUeh] (QFoﬂ?ﬁFﬁ) AEING Bl &
(A) WA 3YHeAT (B) SRR IUHAT(C) HATHR 3Uhetl(D) venefi 3ushatt

Lymphoid tissue in humans is found in
(A) Thymus (B) Tons11s (C) Lymph nodes(D) All of these
| o TIfre1y e I SITd

(A) orEHd (B) <if=rat (Tergfse)
(C) wGeht M3 (D) @ |l
Erythropoeitin in human is secreted from
(A) Pituitary gland (B) Pancreas
(C) _Adrenal gland (D) Kidney

T g wfad 8T

(A) UREA™  (B) IRTH (C) 3fyge=s ufy (D) I
Yellow colour of human urine is due to

(A) Uric Acid (B) Urea (C) Urochrome (D) Bilirubin
Hd T3 oh Hict TT 3T SR &

(A) I&HTEE  (B) (C) JUshig (D) Tfaferefem

Bidder’s canal is present in

(A) Kidney of rabbit (B) Kidney of frog
(C) Testis of frog (D) None of these
foret Tt 3ufea Bl &

(A) GUI % g H (B) W& % g H
(C) Hesh b quud (D) 3H € IS &l

Glenoid cavity in human is found in

(A) Pelvic girdle (B) Pectoral girdle (C) Sternum (D) Humerous
OTsa1 | TefiATgs hierd) TS STt 8

(A) AT TEend (B) I@u@en  (C) Wi (D) Wifesht

Code No. : C-490/2018/Series-A 8



50.

51.

S52.

53.

54.

5S.

56.

57.

Arbor vitae is a part of

(A) Cerebrum (B) Cerebellum (C) Midbrain (D) Fore brain
gegfar=ary Tereent fewan & 2

(A) vHfETSh  (B) A& (C) HeA-HAfEdsh (D) 3W-HiETSh

Which of the following is not a hereditary disease ?

(A) Cretinism (B) Hemophilia
(C) Cystlc fibrosis (D) Thalassemia
et o | o =t T a7 R 2

(A) STHAT (STHT9H) (B) 3fitrEmEmE
(C) 9 aquaran (D) iR

Which hormone is modified amino acid ?
(A) Prostaglandm (B) Estrogen (C) Epinephrine (D) Progesterone
I FT MM I T T 2 2

(A) T=FAfed  (B) TEISH (C) ufmRftea (D) W&

The fleshy edible part of an apple is
(A) Thalamus (B) Nucellus (C) Ovary (D) Endosperm
Teh U I ATH @I 91 8

(A) damE (B) —g&E (C) 3IEIA (D) UgEaH

Animals giving birth to young ones are

(A) Oviparous (B) Ovoviviparous

(C) Viviparous (D) Both (B) and (C)

AT <l S ¢ aTet IO hgetTd &

(A) 3TEITH (B) S-S U9

(C) ESaySh (D) (B) a1 (C) I

During microsporogenesis, meiosis occurs in

(A) Endothecium (B) Microspore mother cells
©) Mlcrospore tetrads (D% Pollen grains

ST o G, LEfaaTeH g

(A) W%‘?)ﬁ?m (B) TSI HIG i

(©) (’Iﬂﬁl\ﬂlﬂ‘dg% (D) YIWThIT

Heterotrophic fungi can live as
gﬁ%ﬁgaprophytes (B) Symblonts (C) Parasites (D) All of these
PG SlldA °¢|(‘|I(‘| °|'>{('II

(A) st (B) wgwIsh (C) uwsfeft (D) FE T

A haploid plant produces male or female gametes by

(A) Binary fission (B) Mitosis (C) Meiosis (D) Amitosis
ITEd T TG HIET JHh Icd—~ L Tohdll &

(A) fgfomvega  (B) fowsa  (C) AgEffovsH(D) srEEifawsH

9 Code No. : C-490/2018/Series-A




58. The entry of pollen tube into the ovule through micropyle is called
(A) Porogamy (B) Mesogamy (C) Anisogamy (D) Chalazogamy
SfISUSER B Bl TWIHTS 1 TSI § 3TRTH ShgaTd]

(A) TR (B) foramd (C) i (D) e

59. Which one of the following is not a male accessory gland ?

(A) Seminal vesicle (B) Ampulla
(C) Prostate ) (D) Bulbourethral gland
i € Teh X TR U1 21 8 2

(A) e (B) dferhr (C) W& (D) Truefia ufy

60. Qraafian follicles are found in

A) Ovaries of mammals B) Testes of mammals

gC; Liver of mammals ng Ovary of frog
PifcTehel UTE STl &

(A) TRl & TS | (B) LT % JuvT |

(C) LT % Ihd § (D) Te® & FSHE H

61. Oral contraceptives are prescribed in females to check
(A) Ovulation (B) Fertilization (C) Implantation (1%) None of these
Tererehi it  feru fert # Hifash (3ier) Ml R 51 g8 2
(A) Iefmor (B) f=m (C) IR (D) 394 9 HIg Tl

62. Gynaecomastia is a common feature seen in
EA; Turner’s syndrome ng Down’s syndrome

C)_ Klinefelter’s syndrome D) None of these

FEYR g (TG , QAR &0 ‘
(A) TR fHugm i , (B) 1o fougm
(C) FTEThee favgm (D) TH & i T

63. Antibodies resemble with which of the following shapes ?
TIETe! o1 ATRR i | o fordesh THed g 2
(A) X B) Y ©€) Z D) O
64. If the base sequence of a codon in mRNA is 5" — AUG — 3’, the sequence of
tRNA pairing with it must be
If¢ m-RNA H Teh SIgH i IR Joft 5' — AUG — 3/ B, 1 3eh A1 S el
t-RNA i 2ioft gt =fen
(A) 5-UAC-3'(B) 5-CAU-3 (C) 5-AUG-3 (D) 5-GUA-3
65. The coding segment of DNA is
(A) Exon ~ (B) Replicon (C) Intron (D) Muton
DNA I %fed @S &

(A) THEH (B) @ (C) s (D) =ZH

66. Initiating force of evolutionis . '
A) Variation (B) Adaptation (C) Competition (D) Natural Selection

T YR et AT
(A) uiEds (faftr=an) (B) g%k
(C) wfcremerf (D) STeHfch sRoT
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67.

68.

69.

70.

71.

72.

73.

74.

Which one of the following is a living fossil ?

(A) Moss (B) Cycas ©)
fe o | o Sifera srfen & 2

(A) wHE (B) HR=IHH (C)
‘AIDS’ is due to

(A) Destruction of Killer — T cells (B)

(C) Lack of interferons (D)
“TgH’ I BN &

(A) HRe — T-hIRN o1 femmer (B)
(C) TTHUA 6l (D)

Cryopreservation is done at temperature
o o X o
[ehd dTHHTA YL shTHHSTSRI Teh T SITdT % ?

(A) —20°C (B) —120°C ©)
Hybrid vigour is due to

(A) Homozygosity (B)
(C) Emasculation (D)
TR TS 1 HRU &

(A) FHIESAT (B) HelHd (©)

Spirogyra (D) Saccharomyces
TR (D) ShirEs
Destruction of Helper-T cells
Autoimmunity

T -T-hIs o femmar
Tt

- 196 °C (D) —273°C
Linkage

Heterozygosity

fogem (D) TowwgmsTar

In transgenics, expression of transgene in target tissue is determined by

(A) Enhancer (B) Promoter

(C) Reporter

(D) None of these

T A& Fdeh H IS4 <61 Afeafh Faifa & st @

(A) TR gR (B) YR gm  (C) fodtgm (D) 370 d & T
An inverted pyramid of biomass can be found in which ecosystem ?
(A) Forest (B) Marine (C) Grassland (D) Tundra

1 1 T Ieel , RERRICIEIEE IR

(A) STt (B) = © ToE (D)
Ecotone is

(A) A polluted area

(B) Bottom of a lake
(C) A transition zone between two communities

D) A zone of developing communities
(A) THuTET (B) Seisiaet
(C) < Y < HET HehHUT & (D) foerrasfiel agemt &1 I
Which of the following is most stable ecosystem ?
(A) Mountain  (B) Desert (C) Forest (D) Ocean
=1 1 S | waiiees wrs urieriashl 7 8 2
(A) YEEl (B) #e=Io (C) ST (D) HEENI

11
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75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

The active chemical drug reserpine is obtained from
(A) Datura QB) Rauwolfia (C) Atropa (D) Papaver
afsha TETIe TaTs WIS I <hi

(A) gquH (B) TdIc®Ha & (C) TWHIH (D) WU H

What will be the molality of the solution containing 18.25 g. of HCI gas in
500 g of water ?

(A) 01m _ (B) 0.5m &C) 1 m (D) None of these
AP 500 g T HCI T8 T 18.25 g oot Tarer= <hY Hieterdn == gift 2
(A) 0.1 m (B) 0.5m (C) 1m (D) 3§ IS &

The pair of ions having same electronic configuration is

U Solai-eh fo=ITd dTet 3R I 8

(A) Sc3t,Cr3t (B) Fe3t,Co3™ (C) Fe3t,Mn2t (D) Cr3t, Fe3*
The wavelength of a radiation having frequency 1000 Hz is

1000 Hz m% mﬁw%ﬁmaﬁmﬁ%

(A) 3x107cm (B) 300 nm (C) 3000 A (D) 3 x1013 cm
The element with atomic number 57 belongs to

(A) s-block (B) p-block (C) d-block (D) f-block
57 IRATY] FEAT ATl ad HATeId &

(A) s—=di%  (B) p-=di% (C) d-=ATsh (D) f-sAih
Which of the following elements have lowest ionization enthalpy ?

7 5 9 ford o< <hl ST U e 1 3 2

(A) Mg (B) Ca (C) Ba (D) Sr

In which of the following substances will hydrogen bond be strongest ?
= 1 @ fopm vered & gregien s Twd 31firss Ao B 2

(A) HCI (B) H,O (C) HI (D) H,S

Which of the following has pyramidal structure ?
fre o 3 ferareht T W%Tﬁ@'&% ?
(A) NHj (B) BF; (C) CCly (D) H,O

Mass of 112 cm3 of NH; gas at S.T.P. is

S.T.P. W NH; 8 % 112 cm? %1 5 H &

(A) 0.085¢g (B) 0.850¢g (C) 85¢ (D) 805¢g

Which of the following is an amorphous solid ?

(A) Graphite (B) Quartz glass (C) Chrome alum (D) Silicon carbide
] Teh JheeeA™ 39 & 2

(A) TS (B) #IeA & (C) sETaH (D) fufcrri waige

The co-ordination number of sodium in Na,O is

Na,O ¥ Hifsaw i T T& &

(A) 6 (B) 4 € 8 (D) 2
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86.

87.

88.

89.

90.

91.

92.

93.

94.

When water is added to quick lime, the reaction is
(A) explosive (B) endothermic (C) exothermic (D) Photochemical
SIS ST I H A STl A 7, a8

(A) foopies  (B) swmmet  (C) eEEd (D) ThRI-TERIH
Which of the following is a Lewis base ?

o1 5 & = 1 e wifm e g 2

(A) AICIy (B) Ag (C) AI(OH); (D) NHjy

During electrolysis, the reaction at anode is

(A) oxidation (B) reduction
(C) decom g)smon (D) None of these

SR, TS W g aTefl 3Tfha & .
(A) Mw (B) 3TU==H (C) Tareren (D) 0 O His &l

Wthh of the following ions will cause hardness in water sample ?
= 1§ S |1 3T ST 8791 H ha AT hl hRUT 8 ?

(A) Ca* (B) Na' (©) Cr (D) K*
Proton is likely to have high
(A) Hydration energy (B) Electron affinity

C) Atomic size (D) Atomic mass

T4 1 ErTed &9 9 i1 8 .

(A) I EESIE Sl (B) 3 SoiaR SEaT
(C) I YUY 3R (D) 3= WHI] GeIHH
Calcium carbide on hydrolysis forms
(A) ethane (B) methane (C) ethylene (D) acetylene
TS - 3T W Hfcda Hrargs fmfor s &
(A) wH (B) WA (C) et (D) uHifeetH

Freon — 12 is used as a

(A) Refrigerant (B) Insecticide (C) Fungicide (D) Herbicide
BRI — 12

(A) wefideh & AR W (B) hieATsft o AR W

(C) ®hEATSf o TR W ) RUETINIE K1 teerd

Which of the following elements does not show allotropy ?

(A) Nltrogen (B) Bismuth (C) Antimony (D) Arsenic
1 | | o |7 o< Uil T2l g & ?

(A) HTEENA (B) fermmy (C) THrt (D) 3
In which of the following functional groups, isomerism is not possible ?

(A) Alcohols (B) Aldehydes (C) Alkyl halides(D) Cyanides
1 o § ford il wog o, Swreead] sz‘ar:l%"f% ?

(A) TehiEld  (B) UcelgiRs (C) Ufeshdt gaT1s8 (D) TRATES
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9s.

96.

97.

98.

99.

100.

101.

102.

The gas which is used for weldlng purposes is

é—s:{ % 1 o ToTT T T

(A) CHy (B) C,Hg (C) CyHy (D) CoH,
Which of the following gases is not a green house gas ?

(A) Carbon monoxide (B) Oj

(C) CHy (D) Water vapours
o1 5 8 i T B -1 e i 2 2

(A) HTEH THIHTES (B) Oj

(C) CHy (D) STt arsq

Which kind of defects are introduced by doping ?

(A) Dislocation defects (B) Schottky defects
(C) Frenkel defects (D) Electronic defects
fert TeRT o 1Y SIfYT gHT 3cqel B & 2

(A) TomAew  (B) wehigw (C) Wweaew (D) for@am

Which of the following is an insulator ?

(A) Graphite (B) Aluminium (C) Diamond (D) Silicon

=1 5 | % |1 T SeT-Ue B 2

(A) U®IgE (B) TeglEm (C) Srwe (D) Tafas

The half life period of a reaction is halved as the initial concentration of the
reactant is doubled. The order of reaction is

(A) 0.5 B) 1 ©) 2 (D) zero

Tereft arfirfsra =t 37el-31 1t 3men 21 ST B, 9 31Rrehes ht Iiies |
o1 T o e ST 2 | SAfsRa <l hife 8

(A) 0.5 ®) 1 © 2 (D) ¥
In a reaction, catalyst changes
(A) Physically (B) Qualitatively
(C) Both (A) and (B) (D) None of these
3T SEeTd &
(A) ‘zﬂﬁaﬁmﬁ (B) TUEITIER
(©) (A)Te (B) TH (D) & & hiE T

Which one of the following ligands forms a chelate ? _
%n:)’ Acetate (B) Oxalate (C) Cyanide (D) Ammonia

T ¥ %9 91 forve uens faeie o1 i s g 2
(A) THE (B) 3Medeie (C) IIATSS (D) 3R
The IUPAC name of CH3;CH,OCH(CH3), is
23

A) isopropoxyethane g 2-methoxybutane
C) 1-methyl-1-methoxyethane 2-Ethoxypropane

CH;CH,OCH(CH3), %1 [UPAC 9 8
(A) SIS (B) 2-frererfiege
(C) 1-uforer-1-freneefida (D) 2-3efio=
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103.

104.

105S.

106.

107.

108.

Which of the following molecules is chiral in nature ?

(A) 2-Bromobutane (B) 1-Bromobutane
(C) 2-Bromopropane (D) 2-Bromopropan-2-ol
71 5 € S | 319] i Yol e @ 2

(A) 25| (B) 1SMeRA  (C) 2-5HMEA (D) 2-SHMHNH-2-31

Which of the following compounds can be used as antifreeze in automobile
radiators ?

(A) Methyl alcohol (B) Glycol

(C) Nitrophenol (D) Ethyl alcohol

=1 4 9 1 @ it SATmTeTsa et ¥ Tl -ThIsi & T I S3h & Hehal & ?
(A) et Tehrgrd (B) TATIRIA

(C) TrEgifteAret (D) T Tewhlaier

Which of the following polymers is prepared by condensation
polymerisation ?

(A) Teflon (B) Natural rubber (C) Styrene (D) Nylon-66
ﬁWﬁ?ﬁﬂT@ng{lﬁHﬁﬁﬂde%ﬂﬂ IERISIRECT IR

(A) A (B) Wil e (C) wisiH (D) TEAM-66

Which system of education was propounded by Mahatma Gandhi ?
(A) Teaching by activities (B) Teaching through music
(C) Teaching through meditation (D) All of these

b1 #ft foraqor somreft weren eft grT sfcfed i 7 o 2

(A) ToramereTral grr fareror (B) w@fia grr fareqor

(C) Taa= gra farero (D) Ig &t

Education of a child really begins

(A) once he takes birth

(B) Once he attains the age of 3

(C) Once he is admitted to post nursery schools

(D) Once he learns to speak

fepeft farg] <1 fareqr ITeqe § Y BT R

(A) S ITFITA AL |

(B) S & 98 3 o hl Y H BT 2 |

(C) & &t ag e ywaTq shi Thel H STeT I & |
(D) <9 & 98 SioH HEar ® |

The concept of sanskritisation was first used by

(A) M.N. Srinivas (B) S. Radhakrishan
(C) Karve (D) Kautilya

R TR0 <hl mwwwaﬁﬂmm%;‘g{mmw o1 9
(A) .. e (B) TH. TUTHVH
(C) =d (D) whifeex
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109. Parental indifferences to the child’s behaviour is called

(A) Identification (B) Aggression

(C) Withdrawal (D) Over protection

TcToh o SFIER (Sd) o Tfd AT TUdT shl ISTEAdT hl &I Thgd & 2

(A) T&aH (B) 3udn (C) TER (D) Afu-weego
110. The IQ score lies between 99-109 is considered as

(A) bright normal (B) border line

(C) mentally challenged (D) average

99-109 % AET [Q ThR ! JTHT ATdT B
(A) SMITSE (B) W@ W (C) #AHEh gea (D) 3ed

111. Motivation cannot be

(A) wused to predict behaviour (B) used to explain behaviour
g%)n inferred from behaviour (D) observed directly

(A) 1 3TN HFER ! Td GO H T2 fhaT ST Fehe |
(B) <1 39T SR bl TUH H &} fohaT ST Tehe |
(C) 1 TR | STIHM &l T ST Hehall |

(D) =1 fsope Teet &9 & & foha ST Tk |

112. Which of the following methods is most suitable for learning disabled
children ?
(A) Brain storming (B) Remedial teaching
(C) Behaviour guidance method (D) None of these
Frer 3 & = o ot T SToreR <61 foreT 3 He S 2 0
(A) s TfHT (B) SUERIcH f3re
(C) I8 ARTes fafer (D) 3T & 1S T&

113. In a projective test of personality, the stimulus must be
(A; Simple (B)_ Ambiguous (C) Complicated (D) Pictorial

% wery qlere 8, SEE g =Ry
(A) & (B) 31&qE (C) wifea (D) "=
114. The first Ph.D in education in India, was awarded by
(A) Punjab University (B) Madras University
(C) Bombay University (D) Calcutta University
Wi | e § 9| Ph.D WM ferar e
(A) ISTe gFHafd g (B) wgT Ifaféiet g
(C) o Ffafdt gra (D) hetehll YA gra

115. Which one of the following tools will provide more valid information ?
A; Interview fBg Observation
C uestionnaire D) Self report

T I 9 G119 3712k AT SHhR] Te Shi ?
(A) TIRHR (B) 3f@clihd (C) THATEe (D) T&-ferawor
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116. The national policy on Education 1986 envisages education as

(A) investment (B) return

(C) national programme (D) social programme

TSt e ifa, 1986 3 fref i e@n 2

(A) fRTFTHR® (B) Wfawet & dR W

(C) TEH Y™ o G T (D) YT I o dR W
117. A teacher in the class is

(A) adirector of the group (B) the President of the group

(C) aleader and guide of the group (D) All of these

fopeft et o weh frereh 2

(A) Hg F HeI (B) GHE I 1T&

(C) THg T a1 a1 ANeh (D) Ig ot

118. The teacher should
(A) help the students to get good marks
(B) keep distance with students
(C) teach and think that his/her job is over
(D) do whatever is needed to promote welfare of students

uh T31ereh bt o © | s R =R ?

(A) 3T 37 UTH i o fore ferammfi=i <6t g

(B) Wéﬁﬁ@wr@m

(C) To@mT qen |ieT foh 3HehT hIH I & TR |

(D) TerenfeRri o shearmor it 3=fa & fotw stmavees $o oft e |

119. Wood’s despatch contains how many paragraphs ?

g4 o feei= 1 foha T ffgd & 2
(A) 100 (B) 101 (C) 102 (D) 103
120. Educational supervision helps in
(A) diagnosis (B) remediation (C) encouraging (D) All of these
HETIh B
(A) Femd (B) STERH (C) WEEdd (D) g aefid

121. Micro-teaching is the

(A) training device (B) feedback device
(C) scaled down teaching (D) All of these
geq-fyreror 3
(A) SITSTET0T ST (B) hIgdeh 3T
(C) T war fare (D) ug &l
122. In which year, IGNOU was set up ?
IGNOU (3) 3l T fordt o g3 oft 2
(A) 1958 (B) 1953 (C) 1985 (D) 1986
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123. Who became the first disciple of Mahavira ?

(A) Jamini (B) Jamali (C) Manu (D) Yashodo
HETIR 1 U s S &1 2
(A) Sifeef (B) et ©) 7 (D) =¥

124. Who among the following thinkers believed in the ‘Vedanta Philosophy’ ?
(A) Mahatma Gandhi (B) Aurobindo Ghosh
(C) Vivekananda (D) Rabindranath Tagore

fre o 8 oo o ferdes <dgrd gei | favama 9 2

(A) e et (B) Rfaguw  (C) fademe (D) s &R
125. Who wrote the book ‘School and Society’ ?

(A) Emile Durkheim (B) John Dewey

(C) Robert Merton (D) Auguste Comte

“Thl TS HHTEE J&ieh Tehe for@lt 2

(A) SHEAGEM (B) & d (C) Usdudd (D) AT =i

126. Who followed the Theraveda form of Buddhism ?
(A) Burmese (B) Chinese (C) Japanese (D) Sri Lankans
Sig g o INATE TEY T STTHWT DI Hid o ?
(A) sqiarElt  (B) <9 (C) ST (D) sficTet & @

127. Vijayalaya was a feudatory of the
(A) Satavahanas (B) Rashtrakutas (C) Pallavas (D) Guptas
forsaITery Toherehl ST off 2

(A) Hrqdrgd (B) ¥R (C) Yeoid (D) T
128. Alauddin Khalji captured the throne after securing fabulous wealth from

(A) Chanderl (B) GuJarat (C) Devaglrl (D) Chittor
IATHEH @etall  al | farset guf Sfid ek ars grfdet fopam 2

(A) =t (B) TSI (C) <afTR (D) e

129. The Mughal emperor, who drove away the Portugues from Hugli, the
premier port of Bengal, was
(A) Akbar (B) Shah Jahan (C) Jahangir (D) Aurangzeb
T TS Ik TSFe- qeTITeral <l giTet!, SIS o1 SH@ U<, | TeeT o
(A) 3T (B) &SRl (C) &R (D) 3T

130. Who took over the administration in Bengal after Robert Clive ?
(A) Lord Wellesley (B) Lord Cornwallis
(C) Warren Hastings (D) Lord Amherst
U FATST o I ST %WW R fehee ForeT 2

(A) oS daselt (B) wighiane™d (C) diagfem (D) i tHas
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131.

132.

133.

134.

135.

136.

137.

138.

139.

Who was arrested in the Kanpur conspiracy case ?

(A) S.A.Dange (B) M.N. Roy

(C) Bhagat Singh (D) Ram Prasad Bismil

TG NG el H fehwrehl el g3 oft 2 0

(A) TEU. BN (B) WHW. T (C) WIardg (D) Ty feferet

The first meeting of Non-Aligned member countries was attended by how
many countries ?

fopa &l 3 (gl ) Te-Frver gew ugt Y wem wifen & s foran e

(A) 17 (B) 21 (C) 25 (D) 28

The second longest river in India that flows towards east is

(A) Mahanadi (B) Godavari (C) Ganga (D) Cauvery
el 1 gEi Fe oTe 7, S T b S e 3

(A) HEwl (B) Tiererd (C) Tm (D) e

Which of the following ranges acts as a natural barrier between India and
Tibet ?

(A) JelepLa (B) Kalimpong (C) LipulLekh (D) Baralacha La

71 o 9 =i it Sioft Wit e fersera = wed Arepfeh Serier o &9 § e i B ?
(A) SH-e  (B) &eimam  (C) Tog-vr@ (D) SRr@m=n-o

Gorakhnath in the Girnar Hills is the highest point in

(A) Kachchh (B) Rann of Kachchh

(C) Kathiawar _ %D) None of these

IR =6t wgfea Ty 3= =l .

(A) F=H (B) %= %W H

(C) wIfeaTaTe | (D) 8 O His &l

Which of the following rivers makes the Gersoppa Falls ?

(A) Sharavati (B) Narmada (C) Tapti (D) Mahi
=1 4 9 & & 7@ TRATO St -JdTd’ ST 8 2

(A) TR (B) Her (C) ar=f (D) =&
Selvas type of vegetation is found in _

(A) Kerala (B) Assam (C) Maharashtra (D) Odisha
TATH TehR hl ST tlTSt STl %

(A) (B) 3m&H (C) HEWrg (D) anfeam
The largest producer of pertroleum in India is

(A) Gyiarat \(B) Assam (C) Maharashtra (D) Tamil Nadu
TRd H YTt 1 T 81 316

(A) T (B) 3m&H (C) wewg (D) dHeHTg

In India, high quality basmati rice is mainly grown in
(A) Dehradun ( ) Kashmir ©) undalr arth (D) All of these

[a)

WA H, 3= OIS SfTed STl =Teiet Jeid: il Sird
(A) <EUH (B) 3R (C) HeUte (D) 3@+t
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140.

141.

142.

143.

144.

145.

Khetri in Junjhunu district of Rajasthan is an important producing centre of

(A) lead (B) Copper (C) Zinc (D) Aluminium
TSI <5 gummrﬂuw fehEreh IcdTeH EARLICEC:
(*) (B) © T T (D) g

‘The Federal System with strong Centre’ has been borrowed by the Indian
constitution from

(A) USA (B) Canada (C) UK (D) France

I T FITE GRT HSTed <hg aTei! Teiid JoTTert oft T8 8

(A) 4WETE (B) ®M@d  (C) LH.§ (D) ®EH

Which of the following schedules of the Indian constitution lists the names
of states and specifies their territories ?

(A) First (B) Second (C) Thlrd (D) Fourth
71 o @ R Sfaam 6t s € STTE TSl o I <hl FiT TUT Ieh! ST
ERUCTEN,

(A) o B) fadfi (C) T (D) =g

Who of the following became Prime Minister of India without becoming a
Union Cabinet Minister ?

(A) Chaudhary Charan Singh (B) H.D. Deve Gowda
(©) MOI’aI]I Desal (D) LK. Gujral
(= 1 B I ehfere farfreet & fomm wied o Jee o4 2
(A) =erd) =2 fig (B) TH.E. <aiel

(C) TR ¢aTs (D) 3TE.%. T

In which house of the parliament, the presiding officer is not a member of
the house ?

(A) Vidhan Parishad (B) Vidhan Sabha

(C) Rajya Sabha (D) Lok Sabha

T o febdl e H e 3rfrehtl e 1 Hew TE B 2

(A) fagmufeg (B) fagmaw (C) TswawW (D) @I al

The Chief Justice of High Court is appointed by the

(A) President

(B) Governor

(C) Chief Justice of India

(D) President on the advice of Governor of the state concerned and the
Chief Justice of India.

3 =TT o J&F =ATetst &1 fgfh fohereh gry <ht Siret & 2

(A) Tgafd

(B) T=gUTA

(C) Y o g&i =rnefis

(D) WA o T <AL TUT T T o TsATe shl TATE T AT g
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146. A Panchayat Samiti at block level is

(A) An advisory body (B) An administrative authority
(C) A consultant committee (D) A supervisory authority
AT TR W I Gl 8
(A) T AATEHNI M (B) U JRTTEN Tl (WTTUHR)
(C) T T G (D) T Taieqeh |l

147. Which committee was set up to review the concept of the poverty line ?
(A) Tendulkar committee (B) Lakdawala Committee
(C) Wanchoo Committee (D) Dutt Committee
Tt T shl AT o GAE o foIe ford wififar ot wa fepar e o 2
(A) dgereRt gufd (B) wATehSTaTel Aifa
(C) =T EHd (D) o it

148. NABARD does not provide refinance to
(A) scheduled commercial banks
(B) regional rural banks
(C) export — import banks
(D) state land development banks
NABARD fehl 47:fer ST el htefl 8 2 ‘
(A) rgEfe aorfsaes s IERECIUEC
(C) ImaTa-faia s (D) T Ygfy fyepma s
149. ‘Global competitiveness Report’ is released by which of the following
organizations ?
A) World Trade Organisation
B) World Economic Forum

C) European Union
D) SAARC

‘ Fifedemg fard’ i Gt wwen g S 6 S 2 2
(A) Tava =R TeA (B) fava smfdfes v
(C) IR = (D) @ (SAARC)

150. Central seed Testing and Referral Laboratory is located in
(A) Bhopal (%) Varanasi ehra%dun (D) Lucknow

(©)
TSt TRIeTOT AT THTOH SITRITETT hal ST ferd & ?
(A) wO™ (B) aTTE (C) <& (D) &S
151. Which of the following countries borders with the Mediterranean sea ?
%ﬁ:)’ Al%ﬁ (B) Tunisia ég% Morocco (D) All of these
T 9 Torg oo I HHT {-AT T A ol g2 8 2
(A) JFesti@  (B) EHARET (C) HISR (D) st

152. Which is the largest fresh water lake in the world ?

A) Lake Tanganyika B) Lake Superior
C) Lake Baikal ~_ D) Lake Michigan
forodl <hl gl o e I H A BT H B 2

(A) dmtem e (B) gdifersiad (C) sz (D) fufem shia
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153.

154.

155.

156.

157.

158.

159.

The seasonal reversal of winds is the typical characterstic of

(A) Equatorial Climate (B) Mediterranean Climate
(C) Monsoon Cllmate (D) None of these
g1 o1 W} ScshHuT foheent fafste wteror 8 2

(A) TIYa Sferary (B) HEAHNHI ey
(C) AHEI Jaary (D) T 9 His &
Nights and days in equatorial region are

(A) Equal (B) Unequal

(C) Lessin length (D) None of these
Pt &t & ot e T 8

(A) F°H (B) 3@

(C) ¥ TS i (D) 3T & HIE &

A man said to a woman “The only son of your brother, is the brother of my
wife.” How is that woman related to the wife of that man ?

(A) Aunt (B) Sister (C) Mother (D) Grand mother
Th J%Y + Teh HIgeT § hal, “3Tdh HTg o1 THAT T, B Ieil 61 WIg 27 | 58
u%wwwﬁﬁﬁmwwf%%?

(A) ==t (B) &1 (C) Hran (D)

Pratap starts from school and walks 7 km towards east. He takes a left and
walks 4 km, then takes a right and walks 2 km, again takes a right and walks
3 km. Which direction is he facing now ?

(A) North (B) South (C) West (D) East
Wﬁw%@ﬂ@ﬂbd{mﬁaﬁ'{@ﬁ 7 km =T | 98 STIT 3TR GEat

4 km =T | Tt grff 3R ggat 2 km), TR gRiT 3R gEat 3 km =T | 31t 361
LCRET ALK

(A) I (B) gfewr (C) ufeem (D)

India’s first national sports university will come up in which state ?

(A) Sikkim (B) Manipur ©) Maharashtra (D) Tamil Nadu
Wﬁ%ﬁl‘l@'&@@?@ﬁﬂ%ﬁ fohd T | & el & 2

(A) Tafers (B) HiUTg (C) werry (D) dfHeHTg

}?Vc}llo l)las been recently appointed is the chairman of the Press Council of
ndia

Eé; C.K. Prasad B R. Banumath1

Madan Lokur Kurien Jose
gl gt 1 fepmrehl et 3 uftwg (PCI) awa%aﬁtmfggﬁmﬁmé% ?
(A) H.H. 7\E (B) W UHHA (C) HeA@F (D) BT IH®
Which country hosted the 2018 Global Malaria Summit ?

nllted ingdom g%g IéSA

a erman
‘agwuéfmaﬁz 2018’ A AW AR 2

(A) e fohTed (B) 3.TH.T. (C) st (D)
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160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Who has won the best actor award at the 2018 Dadasaheb Phalke Awards ?
(A) Shah Rukh Khan (B) Salman Khan

(C) Amitabh Bachchan (D) Akshay Kumar

I8 Tk o U 2TeT U189 ®Ictsh-2018 TaTS T Sfidr 2

(A) IMEEEHE (B) dHHEEHE  (C) Sy s=H (D) AT HHT

Which of the following festivals of H.P. is famous as ‘Dholru’ in Chamba ?

(A) Chaitraul (B) Navratri (C) Chaitti (D) Ralli
i 1§ O feuT=reT Uee &l b O R I H ‘Uicte’ 4 Ig 8 ?
(A) I (B) ot (C) ==t (D) Teett

Himachal Pradesh was under the administration of chief commissioner uptill
e Teh TEHTECT T3 & 3T b JRITEH o aad o1 ?

(A) 1948 (B) 1951 (C) 1956 (D) 1963

Which of the following projects is undertaken by NTPC ?

(A) BairaSiul (B) Chamera (C) Koldam dam (D) Parbati

NTPC gRI % €T GRESHT S&Td 1 7T & 2

A) sufega  (B) @m (C) HiesnsH (D) Wl
The hot spring of Tatapani is situated in which districts of H.P. ?
(A) Mandi (B) Kullu (C) Shimla (D) Chamba
Teuraret g < fope et & aramart 7o Tt =1 5 Srafera 8 2

(A) T (B) el (C) fermem (D)
He was honourably acquitted the charge.

(A) from (B) of (C) off (D) for
Meaning of the idiom “Tied to the apron strings of” is

(A) be independent (B) to be dominated by

(C) to live together (D) to fall in love with

Antonym of the word ‘Refinement’ is
(A) Spotless (B) Courage (C) Vulgarity (D) Poverty

T I8 8

(A) =H (B) wHw (C) #rn (D) =g
ToETt 1 g g § S 3

(A) wH (B) 4 (C) = (D) @WIEH
wifrdH’ o q9TE 2

(A) FftaE (B) degey ©) &= (D) wgsiife
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